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No. MR 42 FTE #h AER | B | xE o (u Sv/B¥) (mSv/ %) 5 E 14 (0.870mSv/ &) EDE
No. Alm 5cm 50cm 1m 5cm 50cm Tm 5cm 50cm Tm
_ 1 |BESR 0.08 0.07 0.07 0.40 0.38 037 | TFHUT [FHUT [FHUT
1| BEREM B5—TH1&265 9878 | 925 |Bh
2 |HAO 0.08 0.08 0.08 0.41 0.40 0.40 | FHLT |FHLUT [FHUT
_ 1 |BESR 0.07 0.07 0.06 0.36 0.37 031 |FFHUT [FHUT [FHUT
2| FREREFT TERI5%E315 98118 | 1450 | BBh
2 |HAO 0.08 0.08 0.06 0.42 0.40 033 | FHLUT |FHLUT [FHUT
. s g o 1 |EEFR 0.07 0.06 0.06 0.37 0.34 031 | FHUT |SFHLUT [FHUT
|BERET |t E | 9g7m | 1625 | wh
(RN2ER) 2 |[HAD 007 0.06 0.05 0.35 0.31 0.28 |[FHILT | FHUT |FHUT
_ 1 |BESR 0.06 0.06 0.06 0.32 0.33 031 | FHUT |FHUT |FHUT
a/MUBRER  |['MUBZTBIEIS 98118 | 16:30 | BEh
2 |HAO 0.10 0.08 0.07 0.51 0.44 0.39 | TFHUT [FHUT [FHUT
_ 1 |BESR 0.06 0.06 0.05 0.32 0.32 0.27 | FHUT |FHUT |FHUT
5|TEERR BT TEERSHhE] 16K 98118 | 16:00 | EEh
2 [HAD 0.06 0.06 0.05 0.32 0.29 0.26 | TFHUT [FHUT [FHUT
_ 1 |BESR 0.07 0.07 0.07 0.37 0.38 0.38 | TFHUT |FHUT |FHUT
6[ILOREFT WARTH2& 15 98118 | 13:40 | BEh
2 [HADQ 0.08 0.07 0.07 0.41 0.38 0.36 | TFHIUT [FHUT [FHUT
_ 1 |BESR 0.06 0.06 0.06 0.32 0.32 031 | FHUT |FHUT |FHUT
&R &EER ER-TH8&ESS 9878 | 10:.00 | BBh
2 |HAB 0.06 0.06 0.07 0.34 0.34 0.36 | FHLUT | FHLUT [FHUT
~ _ 1 |EESR 0.09 0.09 0.09 0.47 0.48 0.46 | FHLUT | FHLUT [FHUT
8| MR BT R Z=TH5%&6S 98118 | 17:35 [ EEh
2 |BAO 0.10 0.09 0.08 0.53 0.47 043 | FHLUT [FHLUT |FEHLT
1 |EESR 0.08 0.08 0.07 0.41 0.40 0.37 | FHAUT |FHLUT [FHUT
9| ILREFR 513 1 it 2 9878 | 10:30 | BEh
2 |HAB 0.08 0.08 0.07 0.43 0.40 0.36 | FHLUT |FHLUT [FHUT
_ 1 |ER1ES 0.07 0.07 0.06 0.36 0.36 0.32 | FHUT |FHLUT [FHUT
10|BEZHRBT HZFRFH148FH 9878 | 1145 |BEh
2 |HAB 0.08 0.07 0.06 0.40 0.37 0.33 | FHUT |FHLUT [FHUT
_ 1 |EESR 0.05 0.06 0.06 0.28 0.32 0.32 | ST [FHUT [FHUT
1|FERE 2t E|146F Hh1 9848 | 16:35 <Y
2 [HAQ 0.08 0.08 0.07 0.41 0.40 0.39 | FHLUT | FHLUT [FHUT
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e BEA TR 8 gt s el EREARSHRED
R4 ARt aea | s |xe o (u Sv/B%) (mSv/2E) R 1(0.870mSv/£E) EDE
No. Alm 5cm 50cm 1m 5cm 50cm Tm 5cm 50cm Tm
5 i 1 |BESR 0.08 0.08 0.07 0.41 0.42 037 | TFHUT [FHUT [FHUT
ST I Gt id IV PI- I RERCY S
2 |HAO 0.10 0.10 0.09 0.52 0.51 047 | FHALUT |FHLUT [FHUT
_ 1 |BESR 0.08 0.08 0.07 0.42 0.41 037 | TFHUT [FHUT [FHUT
INEREFR INEI S 201t E 322 13 9848 | 1540 [<£Y
2 |HAO 0.10 0.09 0.09 0.53 0.47 0.46 | LT |FHLUT [FHUT
1 |BESR 0.07 0.07 0.07 0.37 0.36 037 | TFHUT [FHUT [FHUT
BREFREE |RE4F 1S 98118 | 10:15 | BBh
2 |HAO 0.08 0.07 0.07 0.40 0.36 037 | FHALUT |FHLUT [FHUT
1 |BESR 0.06 0.06 0.05 0.29 0.31 028 | TFHUT [FHUT [FHUT
ELRREE BRAR1BSS 98118 | 1045 | BB
2 |HAO 0.06 0.06 0.05 0.34 0.34 027 | TFHUT [FHUT [FHUT
. 1 |BESR 0.06 0.06 0.05 0.32 0.32 0.27 | FHUT |FHUT |FHUT
WIFAHHRER |LE8ZTH6%K6S 9R118 | 1525 | BEh
2 |HAO 0.07 0.06 0.06 0.35 0.32 029 | TFHUT [FHUT [FHUT
1 |BESR 0.06 0.06 0.05 0.32 0.29 0.26 | FFHUT |FHUT |FHUT
FAIREE FRAT3HhE 14511 9878 | 1545 |Bh
2 |HAO 0.07 0.07 0.06 0.37 0.38 0.34 | TEHUT [FHUT [FHUT
e 1 |= 0.06 0.06 0.06 0.34 0.34 0.32 |FEL TEHLTF |EHLUT
THERE o |RaEmEss 9A11E | 11:40 | BER i FHUT |FHEAT |FHE
KBAREAE 2 |BAD 007 0.06 0.06 0.37 0.33 0.33 |FHLT | FHUT [FHUT
1 |BESR 0.06 0.06 0.06 0.31 0.33 0.32 | FFHUT |FHUT |FHUT
INEEYHE ([EET—TE2H 145 98118 | 1420 | BB
2 |HAO 0.07 0.07 0.07 0.37 0.37 0.36 | FHUT [FHLUT |FEHLUT
1 |BESR 0.07 0.07 0.06 0.36 0.36 0.32 | FFHUT |FHUT |FHUT
UMY HHE ILIO=THBE8&E13E 98118 | 11:15 | BBh
2 |HAO 0.08 0.07 0.07 0.41 0.38 0.35 | FHUT [FHLUT |FHLUT
1 |BESR 0.07 0.07 0.06 0.36 0.36 031 | FHUT |FHUT |FHUT
FIHVOHFHE | 4F205 98118 | 17:05 | Bh
2 |HAO 0.08 0.07 0.07 0.44 0.39 0.38 | FHUT [FHLUT |FHLUT
1 |BESR 0.06 0.06 0.05 0.32 0.32 0.27 | FFHUT |FHUT |FHUT
EORHEE | LRE-TH6ES 98118 | 1525 | BB
2 |HAO 0.07 0.06 0.06 0.35 0.32 029 | FHUT [FHLUT |FEHLUT
1 |BESR 0.08 0.08 0.07 0.41 0.41 0.39 | FFHUT |FHUT |FHUT
SERELE EEMT B1%405 9878 | 16:55 | Bh
2 |HAO 0.08 0.07 0.06 0.42 0.38 0.32 | FHUT [FHLUT |FHUT
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e BT gt s el ERERBARED

No. MR 4 FTTEHh AER | B | xE o (u Sv/B¥) (mSv/ %) R (0.870mSv/ &) EDE

No. Alm 5cm 50cm 1m 5cm 50cm Tm 5cm 50cm Tm

1 |EREFR 0.08 0.08 0.07 0.42 0.41 0.39 | EHLUT |FHLUT [FHUT
ulEBRER  |EEomEn St 9m78 | 1450 | BN BET |FREAT |FHE

2 |(HADO 0.07 0.07 0.07 0.39 0.38 0.36 | FHLT |FHLUT [FHUT

1 |EREFR 0.07 0.07 0.06 0.36 0.36 0.34 | EHLUT |FHLUT [FHUT
s|EEREE  |BEEENHesE® 9878 | 1115 | #h BET |FREAT |FHE

2 |(HADO 0.06 0.06 0.06 0.32 0.32 032 | FHLUT |FHLUT [FHUT

1 |EREFR 0.06 0.06 0.06 0.34 0.34 031 | EHLUT |FHLUT [FHUT
26| AR IREEE H {161 £163F 2 9878 | 13:30 | BB ke ke ke

2 |(HADO 0.09 0.08 0.08 0.47 0.42 0.40 | FHLT |FHLUT [FHUT

1 |EEPR 0.07 0.07 0.06 0.35 0.38 033 | LT |FHLUT |FHUTF
27| INNIREEE JIIR5H B4 Hh 9848 | 1405 |Bh

2 |HAO 0.07 0.07 0.06 0.36 0.36 0.34 | FHLUT |FHLUT [FHUT
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FRIEE (mSv/F) =RIEE (u Sv/FF) x (8AFfE+0.4 x 16B%H]) x 365H 1000
=BIE{E (u Sv/B¥) X 5.256
H1mSv (3Y=A"Lk) =1000u Sv(¥49aY—=A"ILE)

X2 SERAD D BAMSHRIZE S FRIRIIEDH R TYEIL08TmSV/ ETH S,
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